Scéitani a odéitani celych cisel
domaci priprava

1. Vypocitej
a) 235+ 124 + (- 621) + (+267) =
b) — 126 + (— 124) + (+ 365) — (+278) =
c) -5+(-9)-(-15) -19-(+14) =
d) —(45) - (-52) +(—23)+31—-(+24) =
e) (9-3)—-(7-16)+(-8) =
f) —(15-23)+(12-19) - (+14) =
g9) 26-[2-(7-9)]-(-12) =
h) -37-[8+(5-16)] + (- 17) =
i) (15-24)+[(7-13)-(8+3)]+(+14) =
j) —(28-16) —(23)+[3-(6-11)]—-(+21) =




Scéitani a odéitani celych cisel
domaci priprava

Vysledky
1.
a) 5
b) -163
C) - 32
d) -9
e) 7
f) —-13
g) 34
h) —-51
)] -10

), —48




